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Type :="API 51 X65"
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where:
P, = earth dead load pressure on the conduit
¥ = total dry unit weight of fill
[ = height of fill above top of pipe

For conditions where the pipe is located below the water table, the effect of soil grain buoyancy
can be included in the earth load pressure using Equation 3-2.

B=p i+ Ry, C (3-2)

where:

P = earth dead load pressure on the conduit

ya = dryunit weight of backfill

C = height of fill above top of pipe

hy = height of water above pipe

% = unit weight of water

R, = water buoyancy factor = 1- 0.33(/,/C)
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[Fl— downforce scenarios

w

— _ kg
o £ Wpl’pe + Wfluid_302'lo73 ?

w =W + W

_ kg
o s o ipe 501.1—581.5926F

WPfFfS = Wpipe + Wf_Zu_z'd + Wsoil =738.1084

kg
m

2
) Dout ’ Vwater

—202.683 X4
m

I
I
N

[worst—case downforce scenarios ]
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